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1. (A)      . 14 

                   

  (i)      . 7 

  (ii)    . 7 
 

 (B)     . (    ) 4 

  (1) SIDBI  

  (2) IFCI 

  (3) NABARD  

  (4) ICICI 

  (5) IDBI   

  (6) TFCI 

 

2. (A)      .   14 

          

  (i)    .   7 

  (ii) / (Call/Notice)    . 7 
 

 (B)     . (   ) 4 

  (1) CBLO  

  (2) CRR 

  (3) PLR   

  (4) NHB 

  (5) CCIL   

  (6) MIBOR 
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3. (A) - (Book-Building)   . 14 

     

  (i)    .   7 

  (ii) ADR  GDR   .  7 

 

 (B)     . (    ) 3 

  (1) FCCB  

  (2) NYSE 

  (3) ECB   

  (4) NSE 

  (5) QIB 

 

4. (A)      . 14 

     

  (i)  (Secondary)   . 7 

  (ii)     (Dematerialization)   . 7 

 

 (B)     . (   ) 3 

  (1) OTCEI  

  (2) FII 

  (3) FPI   

  (4) SGX 

  (5) WDM 
_________ 
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1. (A) Explain components of financial system in detail. 14 

          OR 

  (i) Explain the bank based financial system design. 7 

  (ii) Discuss characteristics of Financial Markets. 7 

 

 (B) Give full form of following terms : (attempt any four out of six) 4 

  (1) SIDBI  

  (2) IFCI 

  (3) NABARD  

  (4) ICICI 

  (5) IDBI   

  (6) TFCI 

 

2. (A) Write a detailed note on T-bills.   14 

    OR 

  (i) Explain functions of Money Market. 7 

  (ii) Write a note on Call/Notice Money. 7 

 

 (B) Give full form of following terms : (attempt any four out of six) 4 

  (1) CBLO  

  (2) CRR 

  (3) PLR   

  (4) NHB 

  (5) CCIL   

  (6) MIBOR 
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3. (A) Explain the Book Building process in detail. 14 

    OR 

  (i) Explain the functions of Capital Market. 7 

  (ii) Differentiate ADR and GDR.   7 

 

 (B) Give full form of following terms : (attempt any three out of five) 3 

  (1) FCCB  

  (2) NYSE 

  (3) ECB   

  (4) NSE 

  (5) QIB 

 

4. (A) Discuss the procedure of listing of securities on a stock exchange. 14 

    OR 

  (i) Explain the functions of secondary market. 7 

  (ii) Discuss the benefits of dematerialization of shares. 7 

 

 (B) Give full form of following terms : (attempt any three out of five) 3 

  (1) OTCEI  

  (2) FII 

  (3) FPI   

  (4) SGX 

  (5) WDM 
 

_________ 
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1. (A) (i)       . 7 

  (ii)    . 7 

          

  (i)    . 7 

  (ii)     . 7 

 

 (B)    : 4 

  (i)    . 

  (ii)     ? 

  (iii)      . 

  (iv)    . 
 

2. (A) (i)      ?      . 7 

  (ii)    . 7 

           

  (i)    ?    .  

  (ii)     . 
 

 (B)    : 4 

  (i)      ? 

  (ii)     ? 

  (iii)      ? 

  (iv)     ? 
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3. (A) X Ltd.            ` 4,00,000   

 .           : 14 

  (`) 

 -A -B 

1    40,000 1,20,000 

2 1,20,000 1,60,000 

3 1,60,000 2,00,000 

4 2,40,000 1,20,000 

5 1,60,000   80,000 
 

    10% .     -     

            . ` 1  

  10%     . 

 1 2 3 4 5 

  0.91 0.83 0.75 0.68 0.62 

        

  (i)      . 7 

  (ii)         . 7 

 

 (B)      3 

  (1)     

   (a)      

   (b)      

   (c)    

   (d)    

  (2) ________       . 

   (a)   (b)   

   (c)   (d)   
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  (3)    ` 1,00,000      ` 20,000, 8   . 

      _______ . 

   (a) 1  (b) 3  

   (c) 5  (d) 8  

 

4. (A)     : 14 

  (1)     ,      

 .  

 A B 

 () 60,000 15,000 

  (`) 7,200 14,000 

    (`) 0.20 1.50 

    (`) 4,000 8,000 

   (`) 0.60 5.00 

 

  (2)     . 

  (3)    (NOI)   . 

  (4)   ,    (A)    (B)   

   . 
    

    (`)   (`)    

 4,00,000 3,80,000 5% 

 1,00,000 1,10,000 8% 

 6,00,000   

   2,00,000 12,00,000 13% 

 13,00,000 16,90,000  
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 (B)    . 3 

  (i)       ? 

   (a)   (b)   

   (c)   (d)    

  (ii)   ,    

   (a)  . (b)  . 

   (c)  . (d)    

  (iii) ..      ______   . 

   (a)  (b)  

   (c)  (d)    

  

___________ 
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1. (a) (i) Evaluate wealth maximization objective of Financial Management. 7 

  (ii) Discuss role of Finance Manager. 7 

OR 

  (i) Explain scope of Financial Management. 7 

  (ii) Discuss stages of evolution of Financial Management. 7 

 

 (b) Answer the following : 4 

  (i) Define Financial Management. 

  (ii) What is EPS ? 

  (iii) List stages of evolution of Financial Management. 

  (iv) State three Financial decisions. 

 

2. (a) (i) What is time value of money ? Explain compound value and future value. 7 

  (ii) Explain various types of bond. 7 

OR 

  (i) What is Risk ? Explain methods of Risk measurement. 7  

  (ii) Explain concept of “Risk and Return”. 7 

 

 (b) Answer the following : 4 

  (i) What is Zero Coupon Bond ? 

  (ii) What is Market Risk ? 

  (iii) What is time value of Money ? 

  (iv) What is standard deviation ? 
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3. (a) X Ltd. is considering the purchase of new machine. Two alternatives machines 

are available each costing ` 4,00,000. Cash flows from each machine is expected 

to be as follows : 14 

Cash flow (`) 

Year Machine-A Machine-B 

1    40,000 1,20,000 

2 1,20,000 1,60,000 

3 1,60,000 2,00,000 

4 2,40,000 1,20,000 

5 1,60,000   80,000 

 

  The cost of capital is 10%. Using NPV and profitability index method, evaluate 

both machine and suggest which machine should company buy ? P.V. of ` 1 at 

10% p.a. is given below. 

Year 1 2 3 4 5 

PV factor 0.91 0.83 0.75 0.68 0.62 

OR 

  (i) Explain factors affecting working capital requirement. 7  

  (ii) Discuss approaches of financing working capital requirement. 7 

 

 (b) Choose the correct option : 3 

  (1) Net working capital refers to 

   (a) Current Assets minus current liabilities. 

   (b) Total Assets minus fixed assets. 

   (c) Total Current Assets. 

   (d) Total Current Liabilities. 

  (2) _____ is planning of long-term investment of capital cost. 

   (a) Sales budget (b) Cash budget 

   (c) Capital budget (d) Material budget 
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  (3) A project costing ` 1,00,000 and having annual cash flow of ` 20,000 for  

8 years. Its payback period is _____. 

   (a) 1 year (b) 3 years 

   (c) 5 years (d) 8 years 

 

4. (a) Attempt any two : 14 

  (1) From the following information, calculate degree of operating leverage, 

degree of financial leverage and degree of combined leverage.  

Firm A B 

Output (units) 60,000 15,000 

Fixed cost (`) 7,200 14,000 

Variable cost per unit (`) 0.20 1.50 

Interest on borrowed capital (`) 4,000 8,000 

Selling price per unit (`) 0.60 5.00 

  

  (2) Explain determinants of dividend policy. 

  (3) Discuss Net Operating Income (NOI) approach. 

  (4) From the following information, calculate weighted average cost of capital 

using (a) Book Value Weights and (b) Market Value Weights. 

   

Type of Capital Book Value(`) Market Value(`) Specific Cost 

Debt 4,00,000 3,80,000 5% 

Preference 1,00,000 1,10,000 8% 

Equity 6,00,000   

Retained Earning 2,00,000 12,00,000 13% 

 13,00,000 16,90,000  
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 (b) Choose the correct option : 3 

  (i) Operating leverage helps in the analysis of 

   (a) Business Risk (b) Credit Risk 

   (c) Production Risk (d) Financing Risk 

  (ii) In case of NI approach, cost of equity is : 

   (a) constant (b) decreasing 

   (c) increasing (d) None of above 

  (iii) MM Approach assumes that ________ markets are perfect. 

   (a) Money (b) Capital 

   (c) Commodity (d) None of above 

__________ 


